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PaBHOBecKe Ha rpaHuLEe anekTpoa/pacTBop
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Tabnuubl aNekTpoaHbIX NOTEHLManoB
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Electrochemical series

Reaction E°IV
Act+3e = Ac -2.20
Agt+e = Ag 0.7996
Ag¥ +e — Agt 1.980
Ag(ac)+e = Ag+(ac) 0.643
AgBr+e — Ag+Br 0.07133
AgBrO; +e — Ag+BrOy 0.546
Ag, G0, +2e — 2 Ag+ G0 0.4647
AgCl+e — Ag+Clm 0.22233
AgCN+e — Ag+CN- -0.017
Ag,CO;+2e — 2 Ag+ COs™ 047
Ag,CrO 4 +2e — 2 Ag+ CrO- 0.4470
AgF+e = Ag+F 0.779
Agy[Fe(CN)g] +4e — 4 Ag +[Fe(CN)g*+ 0.1478
Agl+e — Ag+1I- -0.15224
AglO;+e — Ag+104 0.354
Ag,M00, +2e — 2 Ag + MoO,> 0.4573
AgNO,+e = Ag+2NO5 0.564
Ag,O+H,0+2e — 2Ag+2O0H- 0.342
Ag,0;+H,0+2e — 2AgO+20H- 0.739
Ag¥*+2e — Agt 1.9
Ag¥+e — Ag? 1.8
Ag,O, +4Ht+e — 2Ag+2H,0 1.802
2Ag0+H,0+2e = Ag,0+2O0H- 0.607
AgOCN +e — Ag+ OCN- 0.41
Ag,S+2e — 2Ag+ ST -0.691
Ag,S+2Ht+2e — 2Ag+H,S -0.0366
AgSCN +e — Ag+ SCN- 0.08951
Ag,SeO;4+2e — 2 Ag+ Se0, 0.3629

Reaction

AI(OH), +3e — Al +4 OH-
H,AI0, +H,0+3e — Al+4OH-
AlFg-+3e — Al+6F

Am* +e — Am*
Am*+2e — Am
Am¥*+3e = Am
Am* +e — Am?*

As+3H"+3e — AsH;
As,0;+6H " +6e = 2As+3H,0
HAsO,+3H"+3e = As+2H,0
AsO;-+2H,0+3e — As+40OH-
H;As04+2H"+2e — HAsO, +2 H,O
AsO+2H,0+2e — AsO, +4 OH-
Aty +2e = 2AC

Aut+e — Au

Au +2e — Au*
Au*+3e — Au
Auf+e-——= Au*

AuOH* + H*+2e — Au*+H,0
AuBr, +e = Au+2Br

AuBry+3e = Au+4Br
AuCly-+3e = Au+4Cl-

Au(OH); +3H*+3e = Au+3H,0O
H,BO;-+5H,0+8e = BH, +80H"
H,BO;+H,;0+3e — B+40H-
H;BO;+3H*+3e — B+3H,0
B(OH); + 7TH*+8 e = BH,+3 H,0
Ba**+2e — Ba

OneKkTpoAHbIv NoTeHUnarn
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E°IV

OX1 + Redz = Red1 + OXZ E3
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S CTaHAapTHbIE 3NEKTPOAHbIE NOTEHLMAbI

(p=1atm, t=25°C, a=1monb/n)

1
OX1+E Hz = Red1 + H+

1
OX2+§ Hz = REdz + H+
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